SUBMITTED BY: BRICKWALL CORPORATION

(Company Name)

## **PROPOSAL**

# SPECIFICATIONS FOR THE FURNISHING AND DELIVERY OF <u>ROAD</u> <u>MAINTENANCE MATERIALS</u> TO THE MONMOUTH COUNTY BOARD OF RECREATION COMMISSIONERS, LINCROFT, NEW JERSEY 07738

ITEM	1 DESCRIPTION	ESTIMATED QUANTITY	PRICE/TON	TOTAL PRICE
1.	I-5 Soil Aggregate ("Clay Road Gravel")	1,150 Tons	s 19,00	s_21,850.00
2.	Washed Gravel 3/8"	125 Tons	\$ 4000	\$ 2,000,00
3.	Dense Graded Aggregate (DGA "Dirty Stone Blend"	1,175 Tons	\$ 25.00	\$ 36272.39
4.	Coarse Aggregate 3/4"-11/2" ("Broken/Quarry Stone" – "Blue Stone"	') 600 Tons	6.05 es	s 18,000 so
5.	Ice Control Sand Grits	525 Tons	520,50	\$ 10,500.00
6.	Masons Sand	100 Tons	s 26.00	\$ <u>2,000,000</u>
7.	Stone Screenings	775 Tons	\$ 25.00	JU218 P18
8.	Rip Rap	25 Tons	\$ 50° OC	\$ 1,250.00

VARIANCE, IF ANY:			
a corp	oration		of <u>New Jersey</u>
having principle offices	at 25 FIRST AVENU	JE, ATLANTIC	HIGHLANDS, NJ 07716
CONTRACTOR BRICK	ALL CORPORATION		
PRINT NAME AND TITI	LAWRENCE C.	HESSE, PRES	IDENT
SIGNATURE		DATI	MAY 13, 2021
ADDRESS 25 FIRS	T AVENUE, ATLANT	IC HIGHLANDS,	NJ 07716
FEDERAL ID NO. OR SC	CIAL SECURITY NO	)	
BUSINESS PHONE	2-291-8100	FAX #	732-495-6225
E-MAIL LHESSE@CJHI	SSE.COM		
WEB ADDRESSN/A			

SUBMITTED BY: KW.V. LAWD & LIVESTOCK SOUTH, INC. (Company Name)

#### **PROPOSAL**

# SPECIFICATIONS FOR THE FURNISHING AND DELIVERY OF <u>ROAD</u> <u>MAINTENANCE MATERIALS</u> TO THE MONMOUTH COUNTY BOARD OF RECREATION COMMISSIONERS, LINCROFT, NEW JERSEY 07738

ITEN	<u>DESCRIPTION</u>	ESTIMATED QUANTITY	PRICE/TON	TOTAL PRICE
1.	I-5 Soil Aggregate ("Clay Road Gravel")	1,150 Tons	\$ 18.73	\$21,539.50
2.	Washed Gravel 3/8"	125 Tons	\$ NO Bis	s No Bio
3.	Dense Graded Aggregate (DGA "Dirty Stone Blend	1,175 Tons	\$ NO BIO	\$ NO BOD
4.	Coarse Aggregate 3/4"-11/2" "Broken/Quarry Stone" – "Blue Stone"	") 600 Tons	\$ NO B10	s No Bio
5.	Ice Control Sand Grits	525 Tons	\$ 19.73	\$ 10,358.25
6.	Masons Sand	100 Tons	\$ NO BID	s NO 510
7.	Stone Screenings	775 Tons	\$ NO Bio	s NO Bin
8.	Rip Rap	25 Tons	\$ NO BID	8 NO B717

VARIANCE, IF ANY:
The undersigned is a partnership under the laws of the State of NEW JERSEY acorporation an individual
having principle offices at
351 PFISTER ROAD, JACKSON, NJ 08527
CONTRACTOR RWV LAND & LIVESTOCK SOUTH, FUC.
PRINT NAME AND TITLE JEFFKEY VOGEL, PRESIDENT
SIGNATURE DATE MAY 6, 2021
ADDRESS PHYSICAL ADDRESS: 351 PFISTER ROAD, JACKSON, NJ 08527
MAILING ADDRESS: P.O. BOX 1323, JACKSON, NJ 08527
FEDERAL ID NO. OR SOCIAL SECURITY NO
BUSINESS PHONE 732-364-1070 FAX # 732-905-718 6
E-MAIL RWVOGEL @ OPTONLINE ONET
WEB ADDRESS NONE

SUBMITTED BY:	Stavola Construction Materials, Inc
	(Company Name)

### **PROPOSAL**

# SPECIFICATIONS FOR THE FURNISHING AND DELIVERY OF $\underline{ROAD}$ $\underline{MAINTENANCE\ MATERIALS}$ TO THE MONMOUTH COUNTY BOARD OF RECREATION COMMISSIONERS, LINCROFT, NEW JERSEY 07738

ITE	M DESCRIPTION	ESTIMATED QUANTITY	PRICE/TON	TOTAL PRICE
1.	I-5 Soil Aggregate ("Clay Road Gravel")	1,150 Tons	No bid	\$
2.	Washed Gravel 3/8"	125 Tons	No bid	\$
3.	Dense Graded Aggregate (DGA "Dirty Stone Blend"	1,175 Tons	\$	\$
4.	Coarse Aggregate 3/4"-11/2" ("Broken/Quarry Stone" – "Blue Stone"	') 600 Tons	\$	\$16,200.00
5.	Ice Control Sand Grits	525 Tons	\$No bid	\$
6.	Masons Sand	100 Tons	\$No bid	\$
7.	Stone Screenings	775 Tons	\$25.00	19,375.00
8.	Rip Rap	25 Tons	\$No bid	\$

VARIANCE, IF ANY:
The undersigned is axxxxxxxip under the laws of the State of
having principle offices at 175 Drift Road, Tinton Falls, NJ 07724
CONTRACTOR Stavola Construction Materials, Inc.
PRINT NAME AND TITLE Joseph C. Stavola, III, President
SIGNATURE DATE 5-10-21
ADDRESS 175 Drift Road, Tinton Falls, NJ 07724
FEDERAL ID NO. OR SOCIAL SECURITY NO.
BUSINESS PHONE 732-542-2328 FAX # 732-389-6083
E-MAILdgill@stavola.com
WEB ADDRESS www.stavola.com

SUBMITTED BY: Trap Rock Industries LLC (Company Name)

#### **PROPOSAL**

## SPECIFICATIONS FOR THE FURNISHING AND DELIVERY OF <u>ROAD</u> <u>MAINTENANCE MATERIALS</u> TO THE MONMOUTH COUNTY BOARD OF RECREATION COMMISSIONERS, LINCROFT, NEW JERSEY 07738

ITEN	M DESCRIPTION	ESTIMATED QUANTITY	PRICE/TON	TOTAL PRICE
1.	I-5 Soil Aggregate ("Clay Road Gravel")	1,150 Tons	\$	\$
2.	Washed Gravel 3/8"	125 Tons	\$	\$
3.	Dense Graded Aggregate (DGA "Dirty Stone Blend"	1,175 Tons	\$ 23.88	\$_28,059.00_
4.	Coarse Aggregate 3/4"-11/2" ("Broken/Quarry Stone" – "Blue Stone"	") 600 Tons	\$ 27.13	\$ <u>16,278.00</u>
5.	Ice Control Sand Grits	<b>525 Tons</b>	\$	\$
6.	Masons Sand	100 Tons	\$	\$
7.	Stone Screenings	775 Tons	\$ 24.65	\$ 19,103.75
8.	Rip Rap	25 Tons	\$ 36.20	\$_905.00

VARIANCE, IF ANY:				
The undersigned is a partnership under the laws of the State of				
CONTRACTOR Trap Rock Industries LLC				
PRINT NAME AND TITLE Michael J. Crowley, Vice President				
SIGNATUREDATEDATE				
ADDRESS 4415 Route 27, Kingston, NJ 08528				
FEDERAL ID NO. OR SOCIAL SECURITY NO				
BUSINESS PHONE 609-252-8927 FAX # 609-497-0135				
E-MAIL trisales@traprock.com				
WEB ADDRESS				